ISSN 1992 - 1950 ©2012 Academic Journals

Full Length Research Paper

Evaluating integrals of the form $\int_0^\infty x^{s-1}e^{-ax^n}dx$ by Adomian decomposition

P. A. Phiri¹* and O. D. Makinde²

Accepted 20 January, 2012

This paper considers evaluation of the general class of integrals of the form $I[a;s;n]=\int_0^\infty x^{s-1}e^{-ax^n}dx$, using the Adomian decomposition method. This integral is solved in its general form and it is shown that particular values of s, a and n of this class of integrals correspond to Mellin and Gaussian integrals whose solutions are easily obtained.

Key words: General class of integrals, Adomian decomposition, Mellin integrals, Gaussian integrals.

INTRODUCTION

The Adomian decomposition method is an ingenious method for solving nonlinear functional equations of various kinds. It has been used to solve a wide class of stochastic and deterministic problems differential, nonlinear and integral equations. The method consists in calculating the solutions of nonlinear functional equations as infinite series in which each term can be easily determined. The series converges rapidly towards the true solution. El-Sayed (2002), Jafari et al. (2006), Kaya et al. (2004) and Mavoungou et al. (1992) have applied the method to solve systems of nonlinear equations; Haldar et al. (1996) used the method to solve integral equations; Abbaoui et al. (1999) and Babolian et al. (2005) employed the method to solve differential equations and Biazar (2006), Biazar et al. (2005a); Biazar and Montazeri (2005b) and Mavoungou et al. (1992) used the method to solve interaction equations. The convergence of the method has been proved by Adomian (1989, 1994), Cherruault (1989) and Paris et al. (2001); and Babolian et al., (2004) has used it to find Laplace transforms of given functions. In this paper, the Adomian method is used to obtain the solution of the general class of integrals of the form

$$I[a; s; n] = \int_{0}^{\infty} x^{s-1} e^{-ax^{n}} dx.$$
 (1)

It is shown that:

$$I[a;s;n] = \frac{1}{na^{\frac{s}{n}}} \Gamma\left(\frac{s}{n}\right), \qquad n \neq 0.$$
 (2)

From Equation 2, for various values of a, s and n, we can deduce many special cases of this integral.

THE ADOMIAN DECOMPOSITION METHOD

Following the analysis by Adomian (1989, 1994), consider the simple first-order differential equation:

$$\frac{dy}{dx} + P(x)y = Q(x), \ y(0) = 0,$$
 (3)

¹Academic Development Centre and Department of Mathematics, Copperbelt University, P. O. Box 21692, Riverside, Kitwe, Zambia.

²Cape Peninsula University of Technology, Faculty of Engineering, Research and Postgraduate Office, P. O. Box 1906, Bellville, 7535, South Africa.

^{*}Corresponding author. E-mail: patricka.phiri@cbu.ac.zm.

which can be written in operator form as:

$$Ly + P(x)y = Q(x), y(0) = 0,$$
 (4)

Where

$$L = \frac{d}{dx}.$$

The solution of Equation 3 is given by:

$$y(x)f(x) = \int Q(x)f(x)dx,$$
 (5)

where

$$f(x) = e^{\int P(x)dx}. ag{6}$$

Following Adomian (1989), we consider the asymptotic decomposition technique for the solution of Equation 4 by assuming that the solution takes the form:

$$y(x) = \sum_{m=0}^{\infty} y_m = y_0 + y_1 + y_2 + \cdots,$$
 (7)

Where the terms $y_m(x)$, $m = 0, 1, 2, \dots$, are given by the relations

$$y_0 = \frac{Q}{P}, \quad y_1 = \frac{y_0'}{P}, \quad y_2 = \frac{y_1'}{P}, \dots, y_{m+1} = \frac{y_m'}{P}.$$
 (8)

The convergence of the series of Equation 7 has been established by Adomian (1989, 1994), Cherruault (1989) and Mavoungou et al. (1992). Then, the solution of Equation 3 is defined by Equations 5 and 7 and is given by:

$$\int Q(x)f(x)dx = f(x)\sum_{m=0}^{\infty} y_m.$$
 (9)

APPLICATION TO EQUATION 1

In Equation 1, let $Q(x) = x^{s-1}$, and set $f(x) = e^{-ax^n}$ so that, using Equation 6, $P(x) = -nax^{n-1}$. Then, the series of Equation 7 becomes:

$$y_0 = \frac{-x^{(s-n)}}{na},$$

$$y_1 = \frac{-(s-n)x^{(s-2n)}}{n^2a^2},$$

$$y_2 = \frac{-(s-n)(s-2n)x^{(s-3n)}}{n^3a^3},$$

$$y_3 = \frac{-(s-n)(s-2n)(s-3n)x^{(s-4n)}}{n^4a^4},$$

:

$$y_{k-1} = \frac{-(s-n)(s-2n)(s-3n)\cdots(s-(k-1)n)x^{(s-kn)}}{n^k a^k}.$$

The series terminates when s = kn, that is, when

$$y_{\frac{s}{n}-1} = \frac{-n^{k-1}}{n^k} \frac{(k-1)(k-2)(k-3)\cdots 2\cdot 1}{a^k} = \frac{-1}{na^k} (k-1)!$$

$$= \frac{-1}{na^k} \Gamma(k) = \frac{-1}{na^{\frac{s}{n}}} \Gamma(\frac{s}{n}).$$

Thus, Equation 9 becomes:

$$\int_0^\infty x^{s-1} e^{-ax^n} dx = e^{-ax^n} [y_0 + y_1 + y_2 + \dots + y_{k-1} + \dots] \Big|_0^\infty,$$
(10)

so that Equation 1 gives:

$$I[a;s;n] = \int_{0}^{\infty} x^{s-1} e^{-ax^{n}} dx = \frac{1}{na^{\frac{s}{n}}} \Gamma\left(\frac{s}{n}\right), \tag{11}$$

as required.

EXAMPLES

In the following examples, it is shown that the general class of integrals of Equation 1 whose solution has been obtained by Adomain decomposition and is given by Equation 11, corresponds to Mellin and Gaussian integrals for particular values of a, s and n. Thus, solutions of these integrals can therefore be easily obtained from Equation 11 by substituting the appropriate values of a, s and n.

Example 1: Mellin transform of e^{-x}

When a = 1 and n = 1, Equation 11 becomes the Mellin transform of e^{-x} , which is also the definition of the Gamma function of s as given by Paris et al. (2001).

Thus, substituting these values in Equation 11 gives:

$$\int_{0}^{\infty} x^{s-1} e^{-x} dx = I[1; s; 1] = \Gamma(s).$$
(12)

Example 2: Mellin transform of e^{-ax}

Setting n = 1 in Equation 11 gives

$$\int_{0}^{\infty} x^{s-1} e^{-ax} dx = I[a; s; 1] = a^{-s} \Gamma(s),$$
(13)

which is the Mellin transform of e^{-ax} as defined by Paris et al. (2001).

Example 3: Mellin transform of e^{-x^2}

Set a = 1 and n = 2 in Equation 11 to obtain the Mellin integral of e^{-x^2} . Then:

$$\int_{0}^{\infty} x^{s-1} e^{-x^{2}} dx = I[1; s; 2] = \frac{1}{2} \Gamma\left(\frac{s}{2}\right), \tag{14}$$

which is in conformity with Paris et al. (2001).

In Examples 2 and 3, instead of substituting the values of a and n in Equation 11, the Mellin transforms of e^{-ax} and e^{-x^2} can be obtained by direct application of the Adomian decomposition method. The details of the procedure are shown in Appendix 1 and 2, respectively.

Example 4: The error function

Let a = 1, s = 1 and n = 2. Then, Equation 11 gives the error function, a special case of the Mellin integral. In this case

$$\int_{0}^{\infty} e^{-x^{2}} dx = I[1; 1; 2] = \frac{1}{2} \Gamma\left(\frac{1}{2}\right) = \frac{\sqrt{\pi}}{2}.$$
 (15)

Example 5: The Gaussian integral

Let n=2 in Equation 11 to obtain the Gaussian integral, which is also called the probability integral. In this case

$$\int_{0}^{\infty} x^{s-1} e^{-ax^{2}} dx = I[a; s; 2] = \frac{1}{2a^{\frac{s}{2}}} \Gamma\left(\frac{s}{2}\right).$$
 (16)

Substituting, in turn, s = 2, s = 2t + 1 and s = 2t + 2, in Equation 14, we obtain the following well known results of the Gaussian integral (Paris et al., 2001).

Case (1)

When s = 2 we obtain

$$\int_{0}^{\infty} xe^{-ax^{2}} dx = I[a; 2; 2] = \frac{1}{2a} \Gamma(1) = \frac{1}{2a},$$
(17)

An expected elementary result.

Case (2)

When s = 2t + 1 we have:

$$\int_0^\infty x^{2t} e^{-ax^2} dx = I[a; 2t+1; 2] = \frac{1}{2a^{t+\frac{1}{2}}} \Gamma\left(t + \frac{1}{2}\right) = t + 12! 2at + 12.$$
(18)

Equation 18 is a well known result of the Gaussian integral.

Case (3)

Set s = 2t + 2 to obtain

$$\int_0^\infty x^{2t+1} e^{-ax^2} dx = I[a; 2t+2; 2] = \frac{1}{2a^{t+1}} \Gamma(t+1) = t! 2at+1.$$
(19)

Equation 19 is another well known result of the Gaussian integral.

CONCLUSION

The Adomain decomposition method has been used to evaluate a general class of integrals of the form of Equation 1. The examples worked out have shown that the use of the technique avoids the complexities involved when other methods of evaluation are used.

REFERENCES

Abbaoui K, Cherruault Y (1999). The decomposition method applied to the Cauchy problem. Kybernetes, 28(1): 68-74.

Adomian G (1989). Nonlinear Stochastic Systems: Theory and Applications to Physics. Kluwer, Dordrecht., pp. 42–47.

Adomian G (1994). Solving Frontier Problems of Physics: The Decomposition Method. Kluwer, Dordrecht.

- Babolian E, Biaza J, Vahidi AR (2004). A new computational method for Laplace transforms by decomposition method. Appl. Math. Comput., 150: 841-846.
- Babolian E, Vahidi AR, Asadi Cordshooli GH (2005). Solving differential equations by decomposition method. Appl. Math. Comput., 167: 1150-1155.
- Biazar J (2006). Solution of the epidemic model by Adomian decomposition method. Appl. Math. Comput., 173: 1101-1106.
- Biazar J, Ilie M, Khoshkenar A (2005a). A new approach to the solution of the prey and predator problem and comparison of the results with the Adomian method. Appl. Math. Comput., 171: 486-491.
- Biazar J, Montazeri M (2005b). A computational method for solution of the prey and predator problem. Appl. Math. Comput., 163: 841-847.
- Cherruault Y (1989). Convergence of Adomian's method. Kybernets, 18(2): 31-39.

- El-Sayed SM (2002). The modified decomposition method for solving nonlinear algebraic equations. Appl. Math. Comput. 132: 589-597.
- Haldar K, Datta BK (1996). Integrations by asymptotic decomposition. Appl. Math. Lett., 9(2): 81-83.
- Jafari H, Daftardar-Gejji V (2006). Revised Adomian decomposition method for solving a system of nonlinear equations. Appl. Math. Comput., 175: 1-7.
- Kaya D, El-Sayed SM (2004). Adomian's decomposition method applied to systems of nonlinear algebraic equations. Appl. Math. Comput., 154: 407-493.
- Mavoungou T, Cherruault Y (1992). Convergence of Adomian's method and application to nonlinear differential equations. Kybernetes, 21(6): 13-25.
- Paris RB, Kaminsky D (2001). Asymptotics and Mellin-Barnes integrals. Cambridge University Press.

APPENDIX 1: The Mellin transform of e^{-ax}

Let Q $(x) = x^{s-1}$, and $f(x) = e^{\int p(x) dx}$ P(x) = -a. Then the recurrence relations of Equation 8 become:

$$y_0 = \frac{-x^{s-1}}{a},$$

$$y_1 = \frac{-(s-1)x^{s-2}}{a^2},$$

$$y_2 = \frac{-(s-1)(s-2)x^{s-3}}{a^3},$$

$$y_3 = \frac{-(s-1)(s-2)(s-3)x^{s-4}}{a^4},$$

$$y_{m-1} = \frac{-(s-1)(s-2)(s-3)\cdots(s-m)x^{s-m}}{a^m}.$$

$$y_{s-1} = -\frac{(s-1)!}{a^s}$$

Thus, Equation (10) becomes:

$$\int_0^\infty x^{s-1}e^{-ax}\,dx = e^{-ax}\left[y_0 + y_1 + y_2 + \dots + y_{k-1} + \dots +$$

Hence, $g(s) = a^{-s}\Gamma(s)$ as required.

APPENDIX 2: The Mellin transform of e^{-x^2}

Let Q $(x) = x^{s-1}$ and $f(x) = e^{-x^2} = e^{\int P(x) dx}$ so that P(x) = -2x. Then, the recurrence relations of Equation 8 become:

$$y_0 = \frac{-x^{s-2}}{2},$$

$$y_1 = \frac{-(s-2)x^{s-4}}{4},$$

$$y_2 = \frac{-(s-2)(s-4)x^{s-6}}{8},$$

$$y_3 = \frac{-(s-2)(s-4)(s-6)x^{s-8}}{16}$$

$$y_{m-1} = \frac{-(s-2)(s-4)(s-6)\cdots(s-2m+2)x^{s-2m}}{2^m}.$$

The series terminates when s = 2m and we then obtain

$$y_{m-1} = -\frac{2^{m-1}}{2^m}(m-1)(m-2)\cdots 2\cdot 1 = -\frac{(m-1)!}{2}.$$

Thus, Equation 10 becomes:

$$\int_0^\infty x^{s-1}e^{-ax} dx = e^{-ax} \left[y_0 + y_1 + y_2 + \dots + y_{k-1} + \dots \right]_0^\infty \int_0^\infty x^{s-1}e^{-x^2} dx = e^{-x^2} \left[y_0 + y_1 + y_2 + \dots + y_{k-1} + \dots \right]_0^\infty = \frac{1}{2}\Gamma(m).$$

Hence, $g(s) = \frac{1}{2}\Gamma(\frac{s}{2})$ as required.